4SF13410 B 28H (CKIER)

R RENFEHIS (A15) 2B B #H

Frx ESEHAE: 2529 b+
(gL HEREFST)
fnfh &h EEh ENFE = (ke) F oy b tExIER 5|
AH Y5 axt Hfike) | 2EEA) | ®EEAE) | REM) | SEME) | £EME) | REME)
130100 |[7ZLNC A % 19,626
= 1,300 0 1,300 10 1,296 1,080
FIE 4,440 1,000 3,440 10 1,404 1,296 1,512 1,188
alll 10,708 1,970 8,738 [}] 1, 404 972 1,404 432
£E 2,670 40 2,630 10 1,296 1,296 648
130340 [£ICALCA a3 15,310
dtiEE 13,930 1,680 12,250 10 1,512 432 1,404 540
= 850 0 850 10 1,058 842
130400 15 % 910
dtiEE 150 20 130 10 2. 160 2,160 864
L 400 0 400 10 1,566
BE 320 0 320 10 1,004
130600 |[LA A % 1,496
i L 150 0 150 5 2,592 972
mE 1,330 70 1,260 5 3. 348 2. 700 3,888 432
131100 [A 3 3 60,110
§377 750 0 750 15 1,080
IE54 59,360 23,770 35,590 15 1,188 648 1,588 540
131700 |Fv Y % 45,550
g3 11,260 5,140 6,120 10 1,264 648 864 648
HE 9,380 3,630 5,750 10 810 324 864 410
a4 11,680 3,440 8,240 10 1,188 324 1,188 324
50 13,230 1,850 11,380 10 1,188 912 1,188 702
131800 | [F5NAE 3 1,640
I BB 756 7 749 3.6 Z, 808 3,240 2,657
EE 520 353 167] 02 259 146 119
& 203 0 203| 0.18 162
131910 [FHE 3 3,521
N 49 0 49 05 702 302
EE 43 5 38 05 302 302 270
il Ll 240 0 240 1 1,512 432
EFNN 1,849 25 1,824 5 2.700 4,860 810
IR 1,295 35 1,260 5 4,860 4,320 4,644 2,160
131950 |B & a3 12,235
deiEE 5,635 2,850 2,785 5 1,944 1,188 1,620 1,134
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4SF13410 B 28H (CKIER)

~

R RENFEHIS (A15) 2B B #H

B ENEHBE: 2529 b+
(ERISHERESD)
fnfh &h EEHh ENFE = (ke) F oy b tExIER 5|
AH 2Y5E Ext Hfike) | 2EEA) | ®EEA) | REM) | SEME) | $EME) | REME)
£EE 130 53 77 35 1,512 1,296
B 1,500 591 909 3 1,404 972 1,404 648
fE 295 0 295 5 918
133400 [L B R a3 16,370
R 9,620 3,940 5,680 10 1,836 1,080 1,944 864
K% 1,750 540 1,210 10 1,080 648 864 540
£E 4,600 1,360 3,240 10 1,944 1,620 2,484 1,296
®me 400 250 150 10 2,160 1,728 2,592 1,728
134100 | A/ ¥ 12,988
dtiEE 95 0 95 5 2,916 2,484
Lz 630 165 465 5 2,592 2,052 2,916 1,836
HE 1,665 1,045 620 5 2,538 1,566 2,592 1,782
EE 345 141 204 5 2,700 2,484 3,024 2,700
®me 28 0 28 5 2,376 1,296
&Il 645 60 585 5 2,376 2,052 2,862 1,080
iR 1,955 345 1,610 5 2,484 1,836 2,970 1,620
= 200 200 0 5 1,620
=I5 6,225 1,205 5,020 5 2.592 2. 160 2,970 2,052
134200 |F I % 3,590
dtiEE 3,590 350 3,240 10 1, 458 1,458 594
134300 | A F % 5,713
EE 1 0 1| 025 162
=B 80 50 30 5 1,728 1,134 2,160
®me 1,158 110 1,048 2 1,296 918 1,296 540
IR 50 0 50 5 756 324
=40 2,765 572 2,193 5 1,944 2,160 1,296
& 634 30 604 03 162 146
HEAR 996 40 956 4 1,728 1,836 648
134400 |F<+ % 6,084
F= 768 276 492 4 1,620 1,404 1,944 1,080
£E 60 0 60 4 1,620
iR 64 0 64 4 1,836 1,620
REAR 5136 432 4,704 [] Z, 160 1,620 3,240 1,080
134500 [E—<> 3 9,983
EE 2,722 315 2,407 0.15 22 22
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PR REFETS (KI5) BEB#HK
SF34E10 B 288 (KER)

Frx ESEHAE: 2529 b+
(gL HEREFST)
fnfh fnfh EEh ENFE = (ke) iR b tExIER 5|
AH 2Y5E Ext Hfike) | 2EEA) | ®EEA) | REM) | SEME) | $EME) | REME)
iR 279 0 279 015 27 17
=il 270 135 135  0.15 54 43 54 32
= 15 962 702 260| 0.13 43
135100 [LNAVIF A 3 128
FEL 40 0 40 2 2,376 1,296
®me 28 0 28 2 2,700 1,944
=50 10 10 0 /] Z 916
BRE 50 0 50 2 2,592 1,944
135200 |3 = ¥ 54
dtiEE 10 3 7 1 2,376 2,160 2,376 2,160
3Rl 30 4 26 2 1,296 3,564 1,296
136100 [MAL & a9 21,252
FE 75 0 75 5 2,268 2,214
®me 7,785 805 6,980 5 Z 484 1,512 2,376 864
= 20 20 0 05 162
= 5 2,295 755 1,540 5 1,998 902 1,512 648
136210 | A—9 4> % 7,090
dtiEE 7,090 900 6,190 10 2.592 1,188 2,592 972
136300 [ B ¥ % 1,600
FiIE 1,500 560 940 10 3. 240 Z. 052 3,780 864
fE 100 0 100 10 1,728
136600 [f=F4=E 3 1,700
dtiEE 150 0 150 10 2,916 2,484
EE 1,550 1,500 50 10 Z 322 1. 080 2,160
138100 | LLM=1F ¥ 2,697
EE 278 5 273 0.1 97 119 70
EE 1,789 48 1,741 0.2 248 281 108
138500 [LHLE “ 3,215
= 3,154 561 2593 0.2 16 59 70 59
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4SF13410 B 28H (CKIER)

R RENFEHIS (A15) 2B B #H

= ENFEHAE 213 bk
(gL HEREFST)
fnfh fnfh EEh ENFE = (ke) iR b tExIER 5|
AH Y5 axt Hfike) | 2EEA) | ®EEAE) | REM) | SEME) | £EME) | REME)

240400 [ R4 BN A MDA # 16,435

L 2,540 2,165 375 10 2,376 864 3,024 1,944

F 4,505 1,995 2,510 10 2,268 1,080 1,944 1,080

4 6,572 2,727 3810 10 3. 240 1,296 3,240 540

REAR 2,818 0 2,818 10 756 540
242850 | YA a3 60

Lz 60 60 0 10 1,080
243102 [FKAEL (KE\E) 3 1,163

£ 1,163 395 768 5 3,564 Z, 700 3,564 2,700
243610 |[EAME 3 956

=B 956 833 123 10 4, 968 1,296 4104 3,564
243770 [FAEME 3 856

B 500 0 500 5 2,484 1,620

i L 356 60 296 b 2.916 2,916 2,700
245230 [BIESRES ¥ 703

a4 703 521 182] 0.35 648 514 594 292
245820 [t L E < ¥ 834

EE 834 141 693 4 Z. 700 1,944 3,240 864
247100 [7—JLAAOY % 306

M 221 128 94 8.5 9. 504 5, 940 11,880 4,320

= 85 85 0 8.5 4,860 2,376




SFI34E10 A 28H OKHER)

F A R RS T S (AE5) BHE H

R EIbng e = 10.8 %
(S I E B B )
A . EN7EH (kg o H05E RIS
2 4 — — filik HLAL - — — — —
AH H05E RIS FEM e ED | HE ()| Z2 i) PEH EAE(ED) | FED | ZE)
101 | RERT=\ 296 129 167 Kg [|[&JI 1,620 162| e 3,240 216
102 |[ZHEIZW 2,059 2,059 Kg g 2,927 324
111 [ ED 625 130 495 Kg |f= 324 194 %0- Koy 1,469 196
113 [ RROLD 65 59 6 Kg | 1,620 828 et 3,564 1,728
114 |5 -H 162 162 Kg HEE[E] 2,592 1,728
115 [/ 57 2 55 Keg [&= 1,080 Lo 2,484 360
117 [13n 129 54 75 Kg |&fE 810 540 | fe i 3,622 648
121 [7bixE 195 105 90 Kg [f&&E 1,512 108| feJi 2,160 432
134 [7=Z 629 272 357 Kg |=¥k-biEE 3,240 1,200 =% 3,240 1,080
137 |[mHES< 116 72 44 Kg [|&HX 3,564 1,447 = 3,888 2,160
140 [512 5 5 Kg E|RES 41,040 17,280
147 [#Ex 116 116 Kg | 8,100 2,375 MR- K5y 7,560 5,000
158 [N AED 691 46 645 Kg |fEE 432 270|F )1 1,296 972
201 |Vl 300 300 Kg = 200
203 |/hHL 99 99 Kg (e 324 162
205 [ALHL 442 442 Kg KRy 720 540
206 [=iX 344 25 319 Kg |&fE 864 594 F-1RF 1,253 352
207 |SAE 236 236 Kg Aty 1,350 675
208 [0k 353 353 Kg ] 1,296 339
209 [T D000 90 90 Kg PR 1,037 648
210 [iIFA v 56 56 Kg [|EIR 7,560 1,485
AVIRES BN 534 534 Kg AR 2,182 1,080
222 [OBZ 408 408 Kg = 288 162
251 |[KAESA 527 94 433 Kg [&F 4,374 33 5,995 2,700
254 [&bIEESAH 335 335 Kg T3 1,620 1,037
303 |NAZIEW 173 152 21 Kg |&fE 345 108] BIx 423 201
305 |ERNOR 2 2 Kg Lo 4,104
306 [WEXD 154 142 12 Kg |[EI® 713 568[ 1L A 864 591
315 |7=H98 385 385 Kg [E=k 756 432
319 [&Hh5 324 138 186 Kg [SiR 1,188 756 S - FoJE 2,700 540
332 | EA BPE 228 228 Kg E|RES 1,566 1,242
351 [AEH 50 50 Kg K 24,840 3,672
354 [1ZEH 23 18 5 Kg [T 1,296 756] = 2,376
355 [HVY 165 5 160 Kg [AEA 864 REA - 20 1,188 500
356 LU 90 90 Kg FSEL 1,080 972
357 |RHE 61 61 Kg HEE[E] 1,728 945
358 [KH 20 10 10 Kg [ZHm 1,080 ] 1,080
362 [ 165 165 Kg = 4,320 756




401

Hup

28

21

Kg

iy F7.

1,080

1,296

1,188

402

I7RE

18

18

Kg

4,428

3,348
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PO T FR YL ISR T (AN Y) B H
SFI34E10 A 28H OKHEH)

R EIbng e = 0.5 %
(S I E B B )

o 7 4% B (kg) wh5E EpspirG]
o i L i o —— _ - Ty -

AH wY5E FEXFELS | PEH AR ()| ZefiE(M) BEH EAE(D) | () | ZefE(M)
507 |o2—/Ly s 100 100] Kg EE]ES] 594
512 |@wEoun 20 20 Kg B|&ES 850
523 | BT 2O 177 177 Kg FE T 3,744 810
524 [WETeEZ O 20 20 Kg FE T 1,620 1,404
554 |XiE WA i 30 30 Kg E[RES 590 350
558 |FRfa 31 31 Kg B|&ES 702 540
560 [HER7=Z 67 67 Kg FE T 1,400 1,150
566 |VRURHNC 20 20  Kg E[RES 2,500 1,150
576  [mERSS 50 50 Kg B[RES 730




SFI34E10 A 28H OKHER)

F A R RS T S (AE5) BHE H

T HEID o g 7 %
(S I E B B )

0 Fe sk BY5E H%
:Stﬁ* 5 izl iﬁl (kg) _ e B \ _ 7 _ j TS| _

AH wY5E RIS FEM AR ()| ZefiE(M) PEH EAE(ED) | FED | ZE)
701 |[BVDHA 5,414 5,278 136 Kg [&E-LQO 1,685 594 | fe i 702 594
704 [WbLET 111 111 Kg L 864
705 [7=3<D 144 144 Keg [X% 2,052
709 |WbLALT 6 6 Kg T4 702
710 |95 HIF 74 10 64 Kg [K% 702 Koy 675 540
751 [T 137 137 Kg |&fE 738 628
755 |BA®HL 72 72 Kg HEE[E] 679 626
756 |BADETS 32 32 Kg Koy 723
761 [BodAEE 84 6 78 Kg |&fE 1,273 1,207 | fe o - Fsfk (L 1,548 750
768 |&E-Z 10 10 Kg FE T 2,360
801 [HEfLxiF 200 200 Kg FE T 1,500 540
802 [HEXT 300 300 Kg JeviEE 972 756
805 [T 252 252 Kg byE- T3 821 351
810 [B K+ 100 100 Kg E[REE 2,808 1,512
815 |—WaAE 46 46 Kg Aty 1,512 648




